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1. DAIFEREE X BB ER

x| 1 2 3 4
P(X=x) | 04 0.3 0.2 0.1

B Y =-3X"+2 0 B YEHEESER (A)-13 B)-4 (04 (D)

2. B THEEARER RS R XELE]E Poisson 1080 - HAMSEREAE | REmw AT EHAE 5
EEAEE | TEBIERIIR (A)0.06 (B)0.14 (C)0.25 (D)0.37

CEERE(X)=2 ~ E(Y)=3 - E(XY)=9 > BlCov(X,T)= (A) 5 B)1.5 (C)2 (D)3

(JJ
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- e ZTEREREEEEL X ~ Bin(n =4, p = 0.3) BLY ~ Bin(n=3,p = 0.4) 17 » HIBEE Var(X + V) ER
(A)0.84 (B)L.56 (C)1.68 (D)2.40
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EAIFEAEE X FURREES f(x) =4e™ > x>0 ; HIFER P(X <0.25) 51
(A)0.63 (B)0.45 (C)0.23 (D)0.11
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8. SRS TECETEMMEETT » FEIRER o BE/KER o » BKAK/NE n —EWERE
(Ade, a.n =FLE%
(B)n A% o /NI e BN
(C)n N > o @/ NHI e BER
(D)a & n BURH] e B

9. TYRGIATERE?
(A) RAEEEZ 2B ARELRE - 078 - FHEBEER
(B) t S/ faREIEEIEAR iR R
(C) (FHRE(RE 99%RI(EHEE [ n] e & RHE 2 IR 5% EREEKGE  BEE DS
D) E-HEZHAREEZENMRETE  E—2(5ETEEE 1

10. ERBE4 10000 A » 2RPFHEER 56 0 » BEES 4 07 BFEEHH 25 ARERA » 1125
(B4 7 B EEGEE 24.25 USRS YA ?
(A)0.05 (B)0.025 (C)0.01  (D)0.005

11, ESAREER 0.1 FFEREHEL 100 fEEA > BUERARLLEI/ ML 0.08 2 0.125 2 SRR NI
BE?
(A)0.0513 (B)0.167 (C)0.403  (D)0.545

12. —E4TEEE 100 2 BT EERHE —EEER > BEEEZ IS5S%EEERE(17.2,22.8) » BlfFER
BEK?
(A)54 (BY9 (C)35 (D)21

13. RESZHFRE 15 05 (EEPREtH 10 Tk - B80S 125 A% » EHEER 1.5 40
Rl 280 fn L IEHE R O0%(EFEIE I 4T 2
(A)(1.12,2.39) (B) (1.2, 6.09) (C) (1.09, 2.47) (D)(1.23, 5.71)
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14, BR-ZETRCOSEEEERNTE #1777 RESEERLITH ANOVA % @ Al
5 B AR By Fil B 1575 F-ELfE

R R, 22 & 24 %
2 s Z 15 T
FER 138
(A) Z— B =52
(B) B + H =35
O T +H =8
D) B —7T =28

15, & B EF, o (1L15) = 45431, F, 1 (2,15) = 3.6823, F, .5 (3,15) = 3.0556,
F, s (L16) = 4.494, F, . (2,16) = 3.6337, F, ,,(3,16) = 3.2389

Foos(1,17) =4.4513 Foo;(217) =3.5915,F, s (3,17) =3.1968,
Fy s (1,18) = 4.4139F, 5, (2,18) = 3.5546 F005(318) 3.1599 » HI
(A) K =5
(B) Ea=00SEFaLEim AR EEHEEETTE
(C) Ea=005ka LI im N RIUEEREERTE
(D) Ea=01KrLIHER RO REERTE

16. RRMEEERERSEK - HREASRETEEM
x=5.20,52=0.9988,n, =10
y=6.45,52 =1.0223,n,10

(A) T ofd (B) £ (O) F&lt (D) ERESE

SEITIRE H, 00 =0l H, 107 # 0 B ERTEA R

17. BEEGAT (ANOVA) ZAtaT 2 LAVE ATl - HEARERSM?
(a) BF— A T7RAE (BB ) T AR %EE’*E& R REHC -
(D)~ T7KERRTERE « BRI RER BT -
(O)F—RTKERTHEC S A MR 2 22 -

(A) (a)(b)
(B) (b)(c)
(C) (a)(e)
(D) IEER
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18. Let X and Y be two random variables with means x4, , and variances ofandof respectively.
A sample with n observations is drawn from X and another sample with m observations is drawn
from Y. Consider the following condition.
(a) X 1s normally distributed.

(b) Y is normally distributed.
(c) n 1s greater than 30.
(d) m 1s greater than 30.
(e) value of o, is known.

(f) value of o is known.

2
(g) €, =0,

What are the minimum necessary conditions to test H,:u,=1.5 using T-test?
(A) (b)
(B) (1)
(C) (b) and (1)
(D) (b) (d) and (1)

19. [Continued] What are the minimum necessary conditions to test H,:pu, = p,using
Z-test?
(A) (a) and (b)
(B) (c) and (d)

(C) (a)(b)(c) and (d)
(D) All of the above

20. FREEMETIARASE 20 {EEE > EERBEREYREER  HE(FfRae s R 2E8ng > BH
HEEEZD?
(A)19  (B)38 (C)39 (D) DILEIE

4R % SR




HIF AL O8 ZFEH AR ES A AAEL

2T A eVl #t 8 X (£ 4 3% E—iﬁ)\) 8 4
T f2 % EH F A H G St 2 % — 98/5/3

HERE (5 10 5)
L FATIEE P R RE TSSO 15 HETERETIOLE BRI g
2 - B 36 FIEES &
(BEATISIS 17 54 BEES S 548 BREEEEENE ? (SEAES 95%)
(b EEEF RS 16 550 AN [ SRMIRERS 9

2. Eighteen overweight individuals were randomly assigned to one of three diets. After two months, the total weight losses
(in pounds) of the individuals on each of the diets were listed in the following table. The null hypothesis to be tested
1s the mean effects of the three diets are the same.

Weight loss
Diet 1 Diet 2 Diet 3
22 25 28
23 26 29
24 27 30
25 28 31
26 29 32
27 30 33

(a) Give the hypothesis.
(b) Construct the ANOVA table.
(c) Conclusion. (a=0.05)
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